
1

A

2 3 4 5 6 7 8

1 2 3 4 5 6 7 8

B

C

D

E

F

A

B

C

D

E

F

TITLE

SIZE AGILE CODE DRAWING REV

SCALE AGILE DESCRIPTION SHEET

HARDWARE SOLUTIONS
DATE

DRAWN
CHECKED

APPROVED

MATERIAL

FINISH

UNLESS OTHERWISE
SPECIFIED DIMENSIONS

ARE IN : MILIMETERS
CRITICAL DIMENSION

TOLERANCES

.XX +/- .01  X/X +/- 1
64  X° +/- 1°

REMOVE ALL BURRS AND SHARP
EDGES, DO NOT SCALE DRAWING

THIRD ANGLE PROJECTION

ALL PARTS, MATERIALS, AND FINISHED
ASSEMBLY SHALL MEET THE RoHS
COMMISSION DELEGATED DIRECTIVE (EU)
2015/863 OF 31 MARCH 2015 AMENDING
ANNEX II TO DIRECTIVE 2011/65/EU.  A
CERTIFICATE OF COMPLIANCE IS REQUIRED
UPON REQUEST.

ALL PARTS, MATERIALS, AND FINISHED
ASSEMBLY SHALL NOT CONTAIN ANY OF THE
SUBSTANCES OF VERY HIGH
CONCERN (SVHC) ABOVE THE THRESHOLD
VALUE PER THE CURRENT ECHA LIST OF
SVHC’S, AND WITH ANNEX XIV AND ANNEX
XVII OF REACH DIRECTIVE 76/769/EEC.  A
CERTIFICATE OF COMPLIANCE IS REQUIRED
UPON REQUEST.

IMPORTANT: THE MODIFICATION DATE COULD DIFFER FROM THE VALIDATION DATE OF THE DOCUMENT IN AGILE

REV. DESCRIPTION MODIFICATION DATE BY

B3-200-000 ASY Camera mount

1:1

A3

HoverGames-Drone and Rover 1/3

8/28/2021

iain galloway

Parts List
Item Qty Part Number Description Material

1 1 B3-200-006
Camera base

Typ. Photopolymer Resin
material

Acetal
Resin,
White

2 1 B3-200-007 Pixy
cam adapt

Typ. Photopolymer Resin
Material

Acetal
Resin,
White

3 3 M3x10
91292A113_TYPE
18-8 SS SOCKET
HEAD CAP
SCREW

Steel

4 6 M3 NyLock Nut
90576A102

Steel

5 1 #10-32 3/4"L
92196A272
SOCKET HEAD
SCREW

Steel

6 1 #10-32 HEX NUT
91841A195_TYPE
18-8 STAINLESS
STEEL

Steel

7 3 M3x8 90751A111
18-8 Stainless
Steel Socket Head
Screws

Steel

8 1 Pixy 2 Off the shelf PCB. 3rd party
supplied

4

3

1

5

7

8

6

4

4

For illustration only.
Do not supply in kit

2



1

A

2 3 4 5 6 7 8

1 2 3 4 5 6 7 8

B

C

D

E

F

A

B

C

D

E

F

TITLE

SIZE AGILE CODE DRAWING REV

SCALE AGILE DESCRIPTION SHEET

HARDWARE SOLUTIONS
DATE

DRAWN
CHECKED

APPROVED

MATERIAL

FINISH

UNLESS OTHERWISE
SPECIFIED DIMENSIONS

ARE IN : MILIMETERS
CRITICAL DIMENSION

TOLERANCES

.XX +/- .01  X/X +/- 1
64  X° +/- 1°

REMOVE ALL BURRS AND SHARP
EDGES, DO NOT SCALE DRAWING

THIRD ANGLE PROJECTION

ALL PARTS, MATERIALS, AND FINISHED
ASSEMBLY SHALL MEET THE RoHS
COMMISSION DELEGATED DIRECTIVE (EU)
2015/863 OF 31 MARCH 2015 AMENDING
ANNEX II TO DIRECTIVE 2011/65/EU.  A
CERTIFICATE OF COMPLIANCE IS REQUIRED
UPON REQUEST.

ALL PARTS, MATERIALS, AND FINISHED
ASSEMBLY SHALL NOT CONTAIN ANY OF THE
SUBSTANCES OF VERY HIGH
CONCERN (SVHC) ABOVE THE THRESHOLD
VALUE PER THE CURRENT ECHA LIST OF
SVHC’S, AND WITH ANNEX XIV AND ANNEX
XVII OF REACH DIRECTIVE 76/769/EEC.  A
CERTIFICATE OF COMPLIANCE IS REQUIRED
UPON REQUEST.

IMPORTANT: THE MODIFICATION DATE COULD DIFFER FROM THE VALIDATION DATE OF THE DOCUMENT IN AGILE

REV. DESCRIPTION MODIFICATION DATE BY

B3-200-000 ASY Camera mount

2:1

A3

HoverGames-Drone and Rover 2/3

8/28/2021

iain galloway

Parts List
Item Qty Part Number Description Material

1 1 B3-200-006
Camera base

Typ. Photopolymer Resin
material

Acetal
Resin,
White

1

Bottom view

3.
1

3 9.
2

9.7

Ø5.4

Ø3.5

3.
1



1

A

2 3 4 5 6 7 8

1 2 3 4 5 6 7 8

B

C

D

E

F

A

B

C

D

E

F

TITLE

SIZE AGILE CODE DRAWING REV

SCALE AGILE DESCRIPTION SHEET

HARDWARE SOLUTIONS
DATE

DRAWN
CHECKED

APPROVED

MATERIAL

FINISH

UNLESS OTHERWISE
SPECIFIED DIMENSIONS

ARE IN : MILIMETERS
CRITICAL DIMENSION

TOLERANCES

.XX +/- .01  X/X +/- 1
64  X° +/- 1°

REMOVE ALL BURRS AND SHARP
EDGES, DO NOT SCALE DRAWING

THIRD ANGLE PROJECTION

ALL PARTS, MATERIALS, AND FINISHED
ASSEMBLY SHALL MEET THE RoHS
COMMISSION DELEGATED DIRECTIVE (EU)
2015/863 OF 31 MARCH 2015 AMENDING
ANNEX II TO DIRECTIVE 2011/65/EU.  A
CERTIFICATE OF COMPLIANCE IS REQUIRED
UPON REQUEST.

ALL PARTS, MATERIALS, AND FINISHED
ASSEMBLY SHALL NOT CONTAIN ANY OF THE
SUBSTANCES OF VERY HIGH
CONCERN (SVHC) ABOVE THE THRESHOLD
VALUE PER THE CURRENT ECHA LIST OF
SVHC’S, AND WITH ANNEX XIV AND ANNEX
XVII OF REACH DIRECTIVE 76/769/EEC.  A
CERTIFICATE OF COMPLIANCE IS REQUIRED
UPON REQUEST.

IMPORTANT: THE MODIFICATION DATE COULD DIFFER FROM THE VALIDATION DATE OF THE DOCUMENT IN AGILE

REV. DESCRIPTION MODIFICATION DATE BY

B3-200-000 ASY Camera mount

2:1

A3

HoverGames-Drone and Rover 3/3

8/28/2021

iain galloway

Parts List
Item Qty Part Number Description Material

2 1 B3-200-007 Pixy
cam adapt

Typ. Photopolymer Resin
Material

Acetal
Resin,
White

2

Top Down View

2.6

3.6

8.8

Ø5.4

Ø3.4

2.6


	Sheets and Views
	Sheet1
	Sheet2
	Sheet3


